PROJECT: PROJECT NO.: NET LENGTH: ISLAND: DISTRICT: TYPE CODE:	Interstate Route H-1 Addition and Modification of Freeway Access (Kapolei Interchange Complex), Phase 3 NH-H1-1(271) 2.6 Miles Oahu Ewa 01, 21, 31, 43					GOODFELLO	OW BROS. LLC	HAWAIIAN D CONSTRU COMPAN	JCTION	MIRA I CONSTRUC		DEPART TRANSPO	OF HAWAII MENT OF DRTATION S DIVISION
DATE ADVERTISED: BID OPENED:	September 20, 2022 December 16, 2022	** NOTE: Q	uantities										
COMPLETION TIME:	Five Hundred Forty (540) Calendar Days	shown in columns are	these										
		**APPROX.		APPROX.		LINUT DDIOE	ANACHINT	LINUT DDIOE	ANGUNIT	LINUT DDIOE	AMOUNT		ANAGUNIT
ITEM NO.	ITEM	QUANTITY	UNITS	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
201.0100	Clearing and Grubbing	3.221	ACRE	L.S.	L.S.	L.S.	\$200,000.00	L.S.	\$500,000.00	L.S.	\$360,690.00	L.S.	\$32,210.00
202.0100	Removal of Existing Hot Mix Asphalt (HMA) Pavement	3,400	S.Y.	3,400	S.Y.	\$18.00	\$61,200.00	\$9.00	\$30,600.00	\$21.00	\$71,400.00	\$50.00	\$170,000.00
202.0200	Removal of Existing Pavement Markings	1,460	L.F.	1,460	L.F.	\$7.00	\$10,220.00	\$5.00	\$7,300.00	\$3.00	\$4,380.00	\$20.00	\$29,200.00
202.0300	Removal of Existing Guardrail	3,450	L.F.	3,450	L.F.	\$20.00	\$69,000.00	\$13.00	\$44,850.00	\$31.00	\$106,950.00	\$20.00	\$69,000.00
202.0400	Removal of Existing Signs, Sign Posts, and Foundations	13	Each	13	Each	\$200.00	\$2,600.00	\$400.00	\$5,200.00	\$300.00	\$3,900.00	\$150.00	\$1,950.00
202.0500	Removal of Existing Cantilever Overhead Sign w/ 28' Wide Guide Sign, Sign Post, and Foundations	1	Each	1	Each	\$42,000.00	\$42,000.00	\$10,000.00	\$10,000.00	\$42,300.00	\$42,300.00	\$5,000.00	\$5,000.00
202.0600	Removal of Existing Emergency Call Box, Post and Foundation	1	Each	1	Each	\$750.00	\$750.00	\$1,000.00	\$1,000.00	\$2,900.00	\$2,900.00	\$750.00	\$750.00
202.0700	Removal of Existing Trees	6	Each	6	Each	\$7,500.00	\$45,000.00	\$4,500.00	\$27,000.00	\$2,400.00	\$14,400.00	\$1,000.00	\$6,000.00
202.0800	Removal of Existing Concrete, Rock, and Debris	32,500	S.F.	L.S.	L.S.	L.S.	\$35,000.00	L.S.	\$35,000.00	L.S.	\$143,400.00	L.S.	\$6,500.00
202.0900	Removal of Existing Drainage Structure, Drain Line, Salvage Frame and Manhole Cover	1,000	L.F.	L.S.	L.S.	L.S.	\$55,000.00	L.S.	\$35,000.00	L.S.	\$120,561.00	L.S.	\$10,000.00
202.1000	Removal of Existing Headwall	2	Each	L.S.	L.S.	L.S.	\$10,200.00	L.S.	\$5,000.00	L.S.	\$12,993.00	L.S.	\$7,500.00
203.0100	Roadway Excavation	5,900	C.Y.	5,900	C.Y.	\$45.00	\$265,500.00	\$60.00	\$354,000.00	\$127.00	\$749,300.00	\$60.00	\$354,000.00
203.0200	Borrow Excavated Material	51,400	C.Y.	51,400	C.Y.	\$20.00	\$1,028,000.00	\$40.00	\$2,056,000.00	\$35.00	\$1,799,000.00	\$60.00	\$3,084,000.00
204.0100	Trench Excavation for Water Line	700	C.Y.	700	C.Y.	\$170.00	\$119,000.00	\$20.00	\$14,000.00	\$343.00	\$240,100.00	\$75.00	\$52,500.00
204.0200	Trench Backfill for Water Line	1,000	C.Y.	1,000	C.Y.	\$40.00	\$40,000.00	\$100.00	\$100,000.00	\$118.00	\$118,000.00	\$75.00	\$75,000.00
205.0100	Structure Excavation for Concrete Retaining Wall	3,900	C.Y.	3,900	C.Y.	\$85.00	\$331,500.00	\$50.00	\$195,000.00	\$50.00	\$195,000.00	\$150.00	\$585,000.00
205.0200	Structure Backfill for Concrete Retaining Walls	25,000	C.Y.	25,000	C.Y.	\$90.00	\$2,250,000.00	\$70.00	\$1,750,000.00	\$64.00	\$1,600,000.00	\$200.00	\$5,000,000.00

PROJECT: PROJECT NO.: NET LENGTH: ISLAND: DISTRICT: TYPE CODE: DATE ADVERTISED: BID OPENED: COMPLETION TIME:	Interstate Route H-1 Addition and Modification of Freeway Access (Kapolei Interchange Complex), Phase 3 NH-H1-1(271) 2.6 Miles Oahu Ewa 01, 21, 31, 43 September 20, 2022 December 16, 2022 Five Hundred Forty (540) Calendar Days	** NOTE: 0 shown in columns ar	these			GOODFELLOV	V BROS. LLC	HAWAIIAN D CONSTRU COMPAN	JCTION	MIRA I CONSTRUC		DEPAR [*] TRANSP	OF HAWAII TMENT OF PORTATION YS DIVISION
ITEM NO.	ITEM	**APPROX. QUANTITY	UNITS	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
205.0300	Nonwoven Geotextile Fabric	4,175	S.Y.	4,175	S.Y.	\$7.00	\$29,225.00	\$15.00	\$62,625.00	\$19.00	\$79,325.00	\$0.00	\$0.00
206.0100	Excavation for 12" Drain Line	4,173	C.Y.	4,175	C.Y.	\$500.00	\$29,223.00	\$100.00	\$400.00	\$835.00	\$3,340.00	\$0.00 \$75.00	\$300.00
206.0200	Excavation for 15" Drain Line Excavation for 15" Drain Line	10	C.Y.	10	C.Y.	\$365.00	\$3,650.00	\$100.00	\$1,000.00	\$480.00	\$4,800.00	\$75.00 \$75.00	\$750.00
		10		0				·					
206.0300	Excavation for 18" Drain Line	8	C.Y.	8	C.Y.	\$450.00	\$3,600.00	\$100.00	\$800.00	\$480.00	\$3,840.00	\$75.00	\$600.00
206.0400	Excavation for 24" Drain Line	775	C.Y.	775	C.Y.	\$145.00	\$112,375.00	\$150.00	\$116,250.00	\$137.00	\$106,175.00	\$75.00	\$58,125.00
206.0500	Excavation for 48" Drain Line	1,050	C.Y.	1,050	C.Y.	\$97.00	\$101,850.00	\$150.00	\$157,500.00	\$228.00	\$239,400.00	\$75.00	\$78,750.00
206.0600	Excavation for 10' x 4' Concrete Box Culvert	1,330	C.Y.	1,330	C.Y.	\$55.00	\$73,150.00	\$70.00	\$93,100.00	\$206.00	\$273,980.00	\$75.00	\$99,750.00
209.0100	Installation, Maintenance, Monitoring and Removal of B.M.P.	L.S.	L.S.	L.S.	L.S.	L.S.	\$725,000.00	L.S.	\$1,059,668.00	L.S.	\$518,250.00	L.S.	\$100,000.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	F.A.	F.A.	F.A.	F.A.	F.A.	\$65,000.00	F.A.	\$65,000.00	F.A.	\$65,000.00	F.A.	\$65,000.00
301.0100	Hot Mix Asphalt Base Course	417	Ton	417	Ton	\$480.00	\$200,160.00	\$504.00	\$210,168.00	\$346.00	\$144,282.00	\$80.00	\$33,360.00
304.0100	Aggregate Base Course	905	C.Y.	905	C.Y.	\$255.00	\$230,775.00	\$160.00	\$144,800.00	\$171.00	\$154,755.00	\$60.00	\$54,300.00
304.0200	Imported Granular Fill	1,025	C.Y.	1,025	C.Y.	\$128.00	\$131,200.00	\$100.00	\$102,500.00	\$171.00	\$175,275.00	\$60.00	\$61,500.00
305.0100	Aggregate Subbase	11,700	C.Y.	11,700	C.Y.	\$105.00	\$1,228,500.00	\$70.00	\$819,000.00	\$104.00	\$1,216,800.00	\$60.00	\$702,000.00
315.0100	Nonwoven Geotextile Fabric	4,175	S.Y.	4,175	S.Y.	\$7.00	\$29,225.00	\$15.00	\$62,625.00	\$9.50	\$39,662.50	\$12.00	\$50,100.00
316.0100	Polypropylene Biaxial Geogrid	1,966	S.Y.	1,966	S.Y.	\$13.00	\$25,558.00	\$15.00	\$29,490.00	\$29.00	\$57,014.00	\$13.50	\$26,541.00
401.0100	Hot Mix Asphalt (HMA) Pavement, Mix No. IV	532	Ton	532	Ton	\$485.00	\$258,020.00	\$510.00	\$271,320.00	\$308.00	\$163,856.00	\$225.00	\$119,700.00
401.0200	Polymer Modified Asphalt (PMA) Pavement, Mix No. IV	50	Ton	50	Ton	\$1,555.00	\$77,750.00	\$1,633.00	\$81,650.00	\$496.00	\$24,800.00	\$275.00	\$13,750.00
411.0100	12-Inch Concrete Pavement	15,000	S.Y.	15,000	S.Y.	\$335.00	\$5,025,000.00	\$340.00	\$5,100,000.00	\$280.00	\$4,200,000.00	\$290.00	\$4,350,000.00

PROJECT: PROJECT NO.: NET LENGTH: ISLAND: DISTRICT: TYPE CODE: DATE ADVERTISED: BID OPENED: COMPLETION TIME:	Interstate Route H-1 Addition and Modification of Freeway Access (Kapolei Interchange Complex), Phase 3 NH-H1-1(271) 2.6 Miles Oahu Ewa 01, 21, 31, 43 September 20, 2022 December 16, 2022 Five Hundred Forty (540) Calendar Days	** NOTE: C shown in columns ar	these			GOODFELLO	OW BROS. LLC	HAWAIIAN E CONSTRI COMPAN	JCTION	MIRA I CONSTRUC		DEPART TRANSPO	OF HAWAII MENT OF DRTATION S DIVISION
ITEM NO.	ITEM	**APPROX. QUANTITY	UNITS	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
503.0100	Concrete Retaining Wall	6,300	C.Y.	6,300	C.Y.	\$1,410.00	\$8,883,000.00	\$1,710.00	\$10,773,000.00	\$1,367.00	\$8,612,100.00	\$1,800.00	\$11,340,000.00
503.0300	Concrete in Thrust Blocks for Water Line	18	C.Y.	18	C.Y.	\$873.00	\$15,714.00	\$850.00	\$15,300.00	\$2,200.00	\$39,600.00	\$750.00	\$13,500.00
503.0400	Concrete in Thrust Beams	11	C.Y.	11	C.Y.	\$3,760.00	\$41,360.00	\$2,400.00	\$26,400.00	\$1,786.00	\$19,646.00	\$750.00	\$8,250.00
503.0500	Concrete in Reinforced Concrete Jacket for Water Line	15	C.Y.	15	C.Y.	\$1,200.00	\$18,000.00	\$550.00	\$8,250.00	\$1,801.00	\$27,015.00	\$750.00	\$11,250.00
503.0600	Concrete in Headwall	13	C.Y.	13	C.Y.	\$4,570.00	\$59,410.00	\$2,700.00	\$35,100.00	\$10,964.00	\$142,532.00	\$750.00	\$9,750.00
503.0800	Concrete in 10' x 4' Concrete Box Culvert	675	C.Y.	675	C.Y.	\$1,860.00	\$1,255,500.00	\$2,450.00	\$1,653,750.00	\$1,729.00	\$1,167,075.00	\$1,000.00	\$675,000.00
503.0900	Concrete in End Posts	7	C.Y.	7	C.Y.	\$1,500.00	\$10,500.00	\$2,450.00	\$17,150.00	\$1,718.00	\$12,026.00	\$600.00	\$4,200.00
508.0100	Cement Rubble Masonry	365	C.Y.	365	C.Y.	\$605.00	\$220,825.00	\$700.00	\$255,500.00	\$1,296.00	\$473,040.00	\$750.00	\$273,750.00
603.0100	12-Inch Reinforced Concrete Pipe, Class III	36	L.F.	36	L.F.	\$185.00	\$6,660.00	\$250.00	\$9,000.00	\$370.00	\$13,320.00	\$225.00	\$8,100.00
603.0200	15-Inch Reinforced Concrete Pipe, Class III	6	L.F.	6	L.F.	\$356.00	\$2,136.00	\$250.00	\$1,500.00	\$1,225.00	\$7,350.00	\$250.00	\$1,500.00
603.0300	18-Inch Reinforced Concrete Pipe, Class III	5	L.F.	5	L.F.	\$426.00	\$2,130.00	\$260.00	\$1,300.00	\$1,192.00	\$5,960.00	\$300.00	\$1,500.00
603.0400	24-Inch Reinforced Concrete Pipe, Class III	1,130	L.F.	1,130	L.F.	\$213.00	\$240,690.00	\$260.00	\$293,800.00	\$371.00	\$419,230.00	\$400.00	\$452,000.00
603.0500	48-Inch Reinforced Concrete Pipe, Class III	625	L.F.	625	L.F.	\$533.00	\$333,125.00	\$600.00	\$375,000.00	\$895.00	\$559,375.00	\$500.00	\$312,500.00
603.0600	Bed Course Material for Culvert	180	C.Y.	180	C.Y.	\$100.00	\$18,000.00	\$200.00	\$36,000.00	\$203.00	\$36,540.00	\$75.00	\$13,500.00
603.0700	Clean Existing Culverts	F.A.	F.A.	F.A.	F.A.	F.A.	\$100,000.00	F.A.	\$100,000.00	F.A.	\$100,000.00	F.A.	\$100,000.00
604.0100	Type "1A-9P" Inlet, 4 Feet to 4.99 Feet	1	Each	1	Each	\$22,000.00	\$22,000.00	\$23,000.00	\$23,000.00	\$19,000.00	\$19,000.00	\$10,000.00	\$10,000.00
604.0200	Type "1A-9P" Inlet, 5 Feet to 5.99 Feet	1	Each	1	Each	\$23,000.00	\$23,000.00	\$24,000.00	\$24,000.00	\$22,200.00	\$22,200.00	\$11,500.00	\$11,500.00
604.0210	Type "1A-9P" Inlet, 6 Feet to 6.99 Feet	1	Each	1	Each	\$23,100.00	\$23,100.00	\$26,000.00	\$26,000.00	\$17,650.00	\$17,650.00	\$12,500.00	\$12,500.00

PROJECT: PROJECT NO.: NET LENGTH: ISLAND: DISTRICT: TYPE CODE: DATE ADVERTISED: BID OPENED: COMPLETION TIME:	01, 21, 31, 43 September 20, 2022 December 16, 2022	** NOTE: 0 shown in columns ar	these			GOODFELLOV	V BROS. LLC	HAWAIIAN D CONSTRU COMPAN	JCTION	MIRA I CONSTRUC		DEPAR ⁻ TRANSP	OF HAWAII TMENT OF PORTATION YS DIVISION
ITEM NO.	ITEM	**APPROX.		APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
604.0300	Type "1A-9P" Inlet, 8 Feet to 8.99 Feet	1	Each	1	Each	\$26,900.00	\$26,900.00	\$29,000.00	\$29,000.00	\$25,100.00	\$25,100.00	\$14,000.00	\$14,000.00
604.0400	Type "1A-9P" Inlet, 9 Feet to 9.99 Feet	1	Each	1	Each	\$28,100.00	\$28,100.00	\$31,000.00	\$31,000.00	\$28,600.00	\$28,600.00	\$15,500.00	\$15,500.00
604.0500	Type "1A-9P" Inlet, 10 Feet to 10.99 Feet	2	Each	2	Each	\$33,000.00	\$66,000.00	\$37,000.00	\$74,000.00	\$29,468.00	\$58,936.00	\$17,000.00	\$34,000.00
604.0600	Type "1A-9P" Inlet, 17 Feet to 17.99 Feet	1	Each	1	Each	\$38,000.00	\$38,000.00	\$47,000.00	\$47,000.00	\$44,000.00	\$44,000.00	\$24,000.00	\$24,000.00
604.0700	Type "1A-9P" Inlet, 22 Feet to 22.99 Feet	1	Each	1	Each	\$43,300.00	\$43,300.00	\$56,000.00	\$56,000.00	\$56,150.00	\$56,150.00	\$30,000.00	\$30,000.00
		'		1		, ,						•	
604.0800	Type Modified "61614P" I-2 Inlet, 9 Feet to 9.99 Feet	1	Each	1	Each	\$33,600.00	\$33,600.00	\$40,000.00	\$40,000.00	\$44,000.00	\$44,000.00	\$19,000.00	\$19,000.00
604.0900	Type Modified "61614P" I-1 Inlet, 13 Feet to 13.99 Feet	1	Each	1	Each	\$42,400.00	\$42,400.00	\$54,000.00	\$54,000.00	\$53,600.00	\$53,600.00	\$25,000.00	\$25,000.00
604.1000	Type "61614P" Inlet, 4 Feet to 4.99 Feet	1	Each	1	Each	\$22,900.00	\$22,900.00	\$27,000.00	\$27,000.00	\$19,580.00	\$19,580.00	\$13,000.00	\$13,000.00
604.1100	Type Riser G-1 Structure, 2 Feet to 2.99 Feet	1	Each	1	Each	\$17,400.00	\$17,400.00	\$18,000.00	\$18,000.00	\$25,500.00	\$25,500.00	\$5,000.00	\$5,000.00
604.1200	Type Riser H-1 Structure, 2 Feet to 2.99 Feet	1	Each	1	Each	\$17,400.00	\$17,400.00	\$18,000.00	\$18,000.00	\$25,840.00	\$25,840.00	\$5,000.00	\$5,000.00
604.1300	Type SDMH I-1 Structure, 26 Feet to 26.99 Feet	1	Each	1	Each	\$70,700.00	\$70,700.00	\$100,000.00	\$100,000.00	\$91,312.00	\$91,312.00	\$37,000.00	\$37,000.00
604.1400	Type SDMH I-2 Structure, 21 Feet to 21.99 Feet	1	Each	1	Each	\$68,500.00	\$68,500.00	\$97,000.00	\$97,000.00	\$83,000.00	\$83,000.00	\$31,200.00	\$31,200.00
604.1500	Type Modified SDMH A-3 P, Cast Iron Frame and Cover, 0 Feet to 0.99 Feet	1	Each	1	Each	\$1,780.00	\$1,780.00	\$2,500.00	\$2,500.00	\$15,900.00	\$15,900.00	\$1,500.00	\$1,500.00
604.1600	Type "A" Manhole, 4 Feet to 4.99 Feet	1	Each	1	Each	\$20,900.00	\$20,900.00	\$11,000.00	\$11,000.00	\$25,720.00	\$25,720.00	\$10,000.00	\$10,000.00
604.1700	Type "C" Manhole, 8 Feet to 8.99 Feet	1	Each	1	Each	\$16,100.00	\$16,100.00	\$28,000.00	\$28,000.00	\$38,100.00	\$38,100.00	\$16,000.00	\$16,000.00
604.1810	Type "C" Manhole, 5 Feet to 5.99 Feet	2	Each	2	Each	\$9,460.00	\$18,920.00	\$34,000.00	\$68,000.00	\$52,500.00	\$105,000.00	\$12,000.00	\$24,000.00
604.1900	Type "C" Manhole, 24 Feet to 24.99 Feet	1	Each	1	Each	\$42,600.00	\$42,600.00	\$51,000.00	\$51,000.00	\$92,300.00	\$92,300.00	\$35,000.00	\$35,000.00

PROJECT: PROJECT NO.: NET LENGTH: ISLAND: DISTRICT: TYPE CODE: DATE ADVERTISED: BID OPENED: COMPLETION TIME:	Interstate Route H-1 Addition and Modification of Freeway Access (Kapolei Interchange Complex), Phase 3 NH-H1-1(271) 2.6 Miles Oahu Ewa 01, 21, 31, 43 September 20, 2022 December 16, 2022 Five Hundred Forty (540) Calendar Days	** NOTE: 0 shown in columns ai	these			GOODFELLO\	W BROS. LLC	HAWAIIAN E CONSTRI COMPAN	JCTION	MIRA I CONSTRUC		DEPART TRANSPO	OF HAWAII MENT OF ORTATION S DIVISION
ITEM NO.	ITEM	**APPROX. QUANTITY	UNITS	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
604.2000	Type "B1" Catch Basin, 5 Feet to 5.99 Feet	1	Each	1	Each	\$30,400.00	\$30,400.00	\$31,000.00	\$31,000.00	\$33,850.00	\$33,850.00	\$10,000.00	\$10,000.00
604.2100	Type "C1" Catch Basin, 5 Feet to 5.99 Feet	1	Each	1	Each	\$30,400.00	\$30,400.00	\$27,000.00	\$27,000.00	\$36,800.00	\$36,800.00	\$10,000.00	\$10,000.00
604.2200	Type "C1" Catch Basin, 2 Feet to 2.99 Feet	1	Each	1	Each	\$25,000.00	\$25,000.00	\$38,000.00	\$38,000.00	\$15,650.00	\$15,650.00	\$8,000.00	\$8,000.00
604.2300	Type "D" Manhole, 5 Feet to 5.99 Feet	1	Each	1	Each	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00	\$16,400.00	\$16,400.00	\$11,000.00	\$11,000.00
605.0200	6-Inch Perforated Underdrain Pipe	1,850	L.F.	1,850	L.F.	\$80.00	\$148,000.00	\$55.00	\$101,750.00	\$72.00	\$133,200.00	\$50.00	\$92,500.00
606.0100	Guardrail Type 3 MGS W-Beam with Strong Posts	4,605	L.F.	4,605	L.F.	\$56.00	\$257,880.00	\$56.00	\$257,880.00	\$75.00	\$345,375.00	\$75.00	\$345,375.00
606.0200	Guardrail Type 3 Thrie Beam with Strong Posts	70	L.F.	70	L.F.	\$270.00	\$18,900.00	\$270.00	\$18,900.00	\$350.00	\$24,500.00	\$100.00	\$7,000.00
606.0300	Guardrail Type 3 Thrie Beam Median with Strong Posts	400	L.F.	400	L.F.	\$78.00	\$31,200.00	\$78.00	\$31,200.00	\$99.00	\$39,600.00	\$175.00	\$70,000.00
606.0400	Guardrail Type MASH TL-3 Temporary Barrier	5,550	L.F.	5,550	L.F.	\$64.00	\$355,200.00	\$375.00	\$2,081,250.00	\$107.00	\$593,850.00	\$60.00	\$333,000.00
606.0500	Reset Guardrail	25	L.F.	25	L.F.	\$31.00	\$775.00	\$31.00	\$775.00	\$58.00	\$1,450.00	\$50.00	\$1,250.00
606.0600	Terminal Section Type MSKT or Equal	2	Each	2	Each	\$6,380.00	\$12,760.00	\$6,380.00	\$12,760.00	\$8,889.00	\$17,778.00	\$6,000.00	\$12,000.00
606.0700	Terminal Section Type MFLEAT MASH or Equal	1	Each	1	Each	\$6,520.00	\$6,520.00	\$6,520.00	\$6,520.00	\$8,835.00	\$8,835.00	\$6,000.00	\$6,000.00
606.0800	Terminal Section Type Thrie Beam Terminal Connector	1	Each	1	Each	\$7,590.00	\$7,590.00	\$7,590.00	\$7,590.00	\$9,744.00	\$9,744.00	\$500.00	\$500.00
606.0900	Terminal Section Type Trailing End Anchorage	1	Each	1	Each	\$3,190.00	\$3,190.00	\$3,190.00	\$3,190.00	\$4,560.00	\$4,560.00	\$500.00	\$500.00
606.1000	Terminal Section Type Thrie Beam End Section	1	Each	1	Each	\$7,590.00	\$7,590.00	\$7,590.00	\$7,590.00	\$9,744.00	\$9,744.00	\$500.00	\$500.00
606.1100	Transition Section Type MGS to W-Beam	1	Each	1	Each	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,284.00	\$2,284.00	\$4,000.00	\$4,000.00
606.1200	Transition Section Type W-Beam to Thrie Beam	5	Each	5	Each	\$3,795.00	\$18,975.00	\$3,795.00	\$18,975.00	\$4,900.00	\$24,500.00	\$500.00	\$2,500.00
607.0100	6-Feet, Chain Link Fence with Metal Post	30	L.F.	30	L.F.	\$200.00	\$6,000.00	\$260.00	\$7,800.00	\$175.00	\$5,250.00	\$60.00	\$1,800.00

PROJECT: PROJECT NO.: NET LENGTH: ISLAND: DISTRICT: TYPE CODE: DATE ADVERTISED: BID OPENED: COMPLETION TIME:	Interstate Route H-1 Addition and Modification of Freeway Access (Kapolei Interchange Complex), Phase 3 NH-H1-1(271) 2.6 Miles Oahu Ewa 01, 21, 31, 43 September 20, 2022 December 16, 2022 Five Hundred Forty (540) Calendar Days	** NOTE: Coshown in columns ar	these			GOODFELLO\	W BROS. LLC	HAWAIIAN [CONSTR COMPAN	UCTION	MIRA I CONSTRUC	IMAGE CTION, LLC	DEPART TRANSPO	OF HAWAII MENT OF ORTATION 'S DIVISION
		**APPROX.		APPROX.									
ITEM NO.	ITEM	QUANTITY	UNITS	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
619.0100	Coral Boulder and Fabric Liner	8,000	S.F.	L.S.	L.S.	L.S.	\$44,500.00	L.S.	\$100,000.00	L.S.	\$112,000.00	L.S.	\$40,000.00
622.0100	Highway Light Standards with Non-Breakaway Transformer Bases, on 31-ft-3-inch Tall Poles, 15-ft Bracket Arms, 16,000 Lumen (Nominal) LED Luminaires, 480 Volts and Concrete Foundation	38	Each	38	Each	\$12,300.00	\$467,400.00	\$13,200.00	\$501,600.00	\$17,250.00	\$655,500.00	\$12,000.00	\$456,000.00
622.0101	Highway Light Standards with Non-Breakaway Transformer Bases, on 27'-9" Tall Pole Mounted on Barrier Wall, 15-ft Bracket Arms, 16,000 Lumen (Nominal) LED Luminaire, 480 Volts and Concrete Foundation	4	Each	4	Each	\$12,850.00	\$51,400.00	\$11,600.00	\$46,400.00	\$16,075.00	\$64,300.00	\$10,000.00	\$40,000.00
622.0200	Type C Highway Lighting Pullboxes	6	Each	6	Each	\$3,000.00	\$18,000.00	\$2,800.00	\$16,800.00	\$3,990.00	\$23,940.00	\$3,500.00	\$21,000.00
622.0300	Four 2-inch Highway Lighting Ducts, Concrete Encased	740	L.F.	740	L.F.	\$33.00	\$24,420.00	\$150.00	\$111,000.00	\$206.00	\$152,440.00	\$80.00	\$59,200.00
622.0400	One 2-inch Highway Lighting Duct, Concrete Encased	3740	L.F.	3740	L.F.	\$25.00	\$93,500.00	\$75.00	\$280,500.00	\$103.00	\$385,220.00	\$50.00	\$187,000.00
622.0500	Connect Existing Highway Lighting Conduit to New Highway Lighting Conduit	5	Each	5	Each	\$1,050.00	\$5,250.00	\$30.00	\$150.00	\$96.00	\$480.00	\$200.00	\$1,000.00
622.0600	Equipment Enclosure and Wiring Modifications in Existing Highway Lighting Equipment Enclosure	1	Each	1	Each	\$5,236.00	\$5,236.00	\$8,200.00	\$8,200.00	\$12,902.00	\$12,902.00	\$10,000.00	\$10,000.00
622.0700	Stub and Cap Highway Lighting Ducts	2	Each	2	Each	\$105.00	\$210.00	\$70.00	\$140.00	\$324.00	\$648.00	\$200.00	\$400.00
622.0800	Demolish and Remove Existing Highway Lighting Pullbox and Backfill, Complete	3	Each	3	Each	\$315.00	\$945.00	\$300.00	\$900.00	\$463.00	\$1,389.00	\$5,000.00	\$15,000.00
622.0900	Remove Existing Highway Lighting Conduits and Wires, Complete and Backfill, Complete	210	Each	210	Each	\$63.00	\$13,230.00	\$60.00	\$12,600.00	\$80.00	\$16,800.00	\$200.00	\$42,000.00
622.1000	Remove Existing Highway Light Standards, Bracket Arms, and Luminaries; Salvage, Clean and Deliver to the State; Demolish and Remove Concrete Bases and Backfill, Complete	9	Each	9	Each	\$2,094.00	\$18,846.00	\$2,000.00	\$18,000.00	\$2,700.00	\$24,300.00	\$3,500.00	\$31,500.00

	TABULATION OF BIDS						T				-		
PROJECT:	Interstate Route H-1 Addition and Modification of Freeway Access (Kapolei Interchange Complex), Phase 3												
PROJECT NO.:	NH-H1-1(271)												
NET LENGTH: ISLAND: DISTRICT:	2.6 Miles Oahu Ewa					GOODFELLOV	W BROS. LLC	HAWAIIAN D CONSTRU	JCTION		IMAGE CTION, LLC	DEPART TRANSPO	PF HAWAII MENT OF DRTATION
TYPE CODE:	01, 21, 31, 43							COMPAN	IY, INC.			HIGHWAY	S DIVISION
DATE ADVERTISED: BID OPENED:	September 20, 2022 December 16, 2022	** NOTE: 0											
COMPLETION TIME:	Five Hundred Forty (540) Calendar Days	shown in columns ar											
COIVII EE IIOIN IIIVIE.	1 Ive Hundred Forty (540) Galendar Days	**APPROX.		APPROX.									
ITEM NO.	ITEM	QUANTITY	UNITS	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
622.1100	Existing 2" Conduit with New 3 No. 1, 1 No. 2 Ground Highway Lighting Conductors	1880	Each	1880	Each	\$13.00	\$24,440.00	\$21.00	\$39,480.00	\$27.00	\$50,760.00	\$20.00	\$37,600.00
622.1200	New 3 No. 1, 1 No. 2 Ground Highway Lighting Conductors	5760	Each	5760	Each	\$13.00	\$74,880.00	\$24.00	\$138,240.00	\$31.00	\$178,560.00	\$20.00	\$115,200.00
622.1300	Disconnect and Remove Existing Direct Buried Highway Lighting Cables, and Backfill Complete	930	Each	930	Each	\$30.00	\$27,900.00	\$28.00	\$26,040.00	\$38.00	\$35,340.00	\$150.00	\$139,500.00
622.1400	Disconnect and Remove Existing Highway Lighting Circuit Conductors, Fill Empty 2-inch Conduit with Concrete and Abandon in Place	200	L.F.	200	L.F.	\$53.00	\$10,600.00	\$50.00	\$10,000.00	\$69.00	\$13,800.00	\$300.00	\$60,000.00
622.1500	Remove and Relocate Existing Highway Light Standard onto New Concrete Foundation, Including All Highway Lighting Wiring as Required, and Demolish and Remove Existing Concrete Base, and Backfill Complete	1	L.F.	1	L.F.	\$3,000.00	\$3,000.00	\$7,000.00	\$7,000.00	\$9,450.00	\$9,450.00	\$10,000.00	\$10,000.00
622.1600	Existing Highway Light Pullbox to be Demolished and Removed and Replaced with New Traffic Rated Type C Highway Light Pullbox, Adjust to Final Grade	1	Each	1	Each	\$13,000.00	\$13,000.00	\$8,600.00	\$8,600.00	\$11,972.00	\$11,972.00	\$8,000.00	\$8,000.00
622.1700	Connect existing highway lighting to JCI lightgrid system	L.S.	L.S.	L.S.	L.S.	L.S.	\$18,850.00	L.S.	\$5,000.00	L.S.	\$36,750.00	L.S.	\$500,000.00
623.0100	Type A Traffic Signal/Communications Pullboxes	7	Each	7	Each	\$2,475.00	\$17,325.00	\$2,000.00	\$14,000.00	\$3,235.00	\$22,645.00	\$2,000.00	\$14,000.00
623.0200	Type C Traffic Signal/Communications Pullboxes	7	Each	7	Each	\$2,900.00	\$20,300.00	\$2,800.00	\$19,600.00	\$4,262.00	\$29,834.00	\$3,500.00	\$24,500.00
623.0300	Two 2-inch Traffic Signal Ducts, Concrete Encased	3,910	L.F.	3,910	L.F.	\$27.00	\$105,570.00	\$60.00	\$234,600.00	\$79.00	\$308,890.00	\$60.00	\$234,600.00
623.0400	Stub and Cap Traffic Signal Ducts	10	Each	10	Each	\$105.00	\$1,050.00	\$30.00	\$300.00	\$62.00	\$620.00	\$200.00	\$2,000.00
623.0500	Connect Existing Traffic Signal Conduit to New Traffic Signal Conduit	5	Each	5	Each	\$1,050.00	\$5,250.00	\$30.00	\$150.00	\$43.00	\$215.00	\$200.00	\$1,000.00
623.0600	Traffic Rated Type A Traffic Signal/Communications Pullboxes	11	Each	11	Each	\$6,500.00	\$71,500.00	\$7,400.00	\$81,400.00	\$10,000.00	\$110,000.00	\$4,000.00	\$44,000.00

PROJECT: PROJECT NO.: NET LENGTH: ISLAND: DISTRICT: TYPE CODE:	Interstate Route H-1 Addition and Modification of Freeway Access (Kapolei Interchange Complex), Phase 3 NH-H1-1(271) 2.6 Miles Oahu Ewa 01, 21, 31, 43					GOODFELL	OW BROS. LLC	HAWAIIAN I CONSTR COMPAN	UCTION		IMAGE CTION, LLC	DEPART TRANSPO	F HAWAII MENT OF DRTATION S DIVISION
DATE ADVERTISED: BID OPENED:	September 20, 2022 December 16, 2022	** NOTE: C	these										
COMPLETION TIME:	Five Hundred Forty (540) Calendar Days	columns ar **APPROX.	e for in-	APPROX.									
ITEM NO.	ITEM	QUANTITY	UNITS	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
623.0700	Traffic Rated Type C Traffic Signal/Communications Pullboxes	11	Each	11	Each	\$10,840.00	\$119,240.00	\$12,800.00	\$140,800.00	\$16,942.00	\$186,362.00	\$7,000.00	\$77,000.00
623.0800	Two 2-inch Communications Signal Ducts, Concrete Encased	4,020	L.F.	4,020	L.F.	\$27.00	\$108,540.00	\$60.00	\$241,200.00	\$80.00	\$321,600.00	\$60.00	\$241,200.00
623.0900	One 2-inch Communications Electric Ducts, Concrete Encased	460	L.F.	460	L.F.	\$25.00	\$11,500.00	\$53.00	\$24,380.00	\$77.00	\$35,420.00	\$40.00	\$18,400.00
623.0950	One 3-Inch Communications Electric Ducts, Concrete Encased	3,560	L.F.	3,560	L.F.	\$30.00	\$106,800.00	\$56.00	\$199,360.00	\$74.00	\$263,440.00	\$50.00	\$178,000.00
623.1000	Existing Traffic Signal Pullbox to be Demolished and Removed and Replaced with New Traffic Rated Type A Traffic Signal Pullbox, Adjusted to Final Grade	1	Each	1	Each	\$8,750.00	\$8,750.00	\$8,600.00	\$8,600.00	\$11,972.00	\$11,972.00	\$5,000.00	\$5,000.00
623.1100	Existing Traffic Signal Pullbox to be Demolished and Removed and Replaced with New Traffic Rated Type B Traffic Signal Pullbox, Adjusted to Final Grade	1	Each	1	Each	\$13,000.00	\$13,000.00	\$12,200.00	\$12,200.00	\$16,591.00	\$16,591.00	\$8,000.00	\$8,000.00
624.0100	Water Systems	1,416	L.F.	L.S.	L.S.	L.S.	\$1,300,000.00	L.S.	\$1,100,000.00	L.S.	\$2,358,000.00	L.S.	\$800,000.00
626.0100	6-Inch Standard Valve Box	2	Each	2	Each	\$1,750.00	\$3,500.00	\$2,000.00	\$4,000.00	\$3,800.00	\$7,600.00	\$6,200.00	\$12,400.00
626.0200	16-Inch Beveled Gear Standard Valve Box	1	Each	1	Each	\$45,000.00	\$45,000.00	\$35,000.00	\$35,000.00	\$87,000.00	\$87,000.00	\$26,000.00	\$26,000.00
626.0300	24-Inch Beveled Gear Standard Valve Box	1	Each	1	Each	\$45,000.00	\$45,000.00	\$35,000.00	\$35,000.00	\$110,000.00	\$110,000.00	\$32,000.00	\$32,000.00
627.0100	Hydrodynamic Separator Structure	2	Each	L.S.	L.S.	L.S.	\$86,500.00	L.S.	\$120,000.00	L.S.	\$220,700.00	L.S.	\$60,000.00
629.0100	4-Inch Pavement Striping (Thermoplastic Extrusion)	2,920	L.F.	2,920	L.F.	\$4.75	\$13,870.00	\$4.75	\$13,870.00	\$7.00	\$20,440.00	\$1.50	\$4,380.00
629.0200	6-Inch Pavement Striping (Thermoplastic Extrusion)	4,870	L.F.	4,870	L.F.	\$6.25	\$30,437.50	\$6.25	\$30,437.50	\$8.00	\$38,960.00	\$2.00	\$9,740.00
629.0300	8-Inch Pavement Striping (Thermoplastic Extrusion)	1,740	L.F.	1,740	L.F.	\$7.25	\$12,615.00	\$7.25	\$12,615.00	\$9.00	\$15,660.00	\$2.50	\$4,350.00
629.0400	12-Inch Pavement Striping (Thermoplastic Extrusion)	1,250	L.F.	1,250	L.F.	\$8.75	\$10,937.50	\$8.75	\$10,937.50	\$14.50	\$18,125.00	\$3.50	\$4,375.00
629.0500	Crosswalk Marking (Thermoplastic Extrusion)	100	L.F.	100	L.F.	\$17.00	\$1,700.00	\$17.00	\$1,700.00	\$31.00	\$3,100.00	\$3.50	\$350.00

PROJECT: PROJECT NO.: NET LENGTH: ISLAND: DISTRICT: TYPE CODE: DATE ADVERTISED: BID OPENED: COMPLETION TIME:	Interstate Route H-1 Addition and Modification of Freeway Access (Kapolei Interchange Complex), Phase 3 NH-H1-1(271) 2.6 Miles Oahu Ewa 01, 21, 31, 43 September 20, 2022 December 16, 2022 Five Hundred Forty (540) Calendar Days	** NOTE: 0 shown in columns ar	these			GOODFELLOV	V BROS. LLC	HAWAIIAN D CONSTRU COMPAN	JCTION	MIRA I CONSTRUC		DEPART TRANSPO	OF HAWAII MENT OF ORTATION 'S DIVISION
ITEM NO.	ITEM	**APPROX. QUANTITY	UNITS	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629.0600	Pavement Symbol (Thermoplastic Extrusion)	9	Each	9	Each	\$260.00	\$2,340.00	\$260.00	\$2,340.00	\$1,095.00	\$9,855.00	\$50.00	\$450.00
629.0700	Profiled Thermoplastic Striping	19	Each	19	Each	\$325.00	\$6,175.00	\$325.00	\$6,175.00	\$407.00	\$7,733.00	\$15.00	\$285.00
629.0800	Type "C" Pavement Markers	250	Each	250	Each	\$13.00	\$3,250.00	\$13.00	\$3,250.00	\$14.00	\$3,500.00	\$7.00	\$1,750.00
629.0900	Type "F" Pavement Markers	2	Each	2	Each	\$13.00	\$26.00	\$13.00	\$26.00	\$14.00	\$28.00	\$7.00	\$14.00
629.1000	Type "H" Pavement Markers	76	Each	76	Each	\$13.00	\$988.00	\$13.00	\$988.00	\$14.00	\$1,064.00	\$7.00	\$532.00
631.0100	Regulatory Sign (10 Square Feet or Less, w/ post)	6	Each	6	Each	\$580.00	\$3,480.00	\$580.00	\$3,480.00	\$850.00	\$5,100.00	\$500.00	\$3,000.00
631.0200	Regulatory Sign (More than 10 Square Feet, w/ 2 posts)	1	Each	1	Each	\$1,050.00	\$1,050.00	\$1,050.00	\$1,050.00	\$1,280.00	\$1,280.00	\$1,500.00	\$1,500.00
631.0300	Warning Sign (10 Square Feet or Less, w/ post)	10	Each	10	Each	\$580.00	\$5,800.00	\$580.00	\$5,800.00	\$850.00	\$8,500.00	\$500.00	\$5,000.00
631.0400	Warning Sign (More than 10 Square Feet, w/ 2 Posts)	3	Each	3	Each	\$1,150.00	\$3,450.00	\$1,150.00	\$3,450.00	\$885.00	\$2,655.00	\$1,500.00	\$4,500.00
631.0500	Interchange Exit Sign (2 posts)	1	Each	1	Each	\$3,700.00	\$3,700.00	\$3,700.00	\$3,700.00	\$4,530.00	\$4,530.00	\$2,200.00	\$2,200.00
631.0600	Relocation of Existing Sign	1	Each	1	Each	\$775.00	\$775.00	\$775.00	\$775.00	\$850.00	\$850.00	\$500.00	\$500.00
631.0700	Guide Sign (Expressway)	4	Each	4	Each	\$30,000.00	\$120,000.00	\$18,000.00	\$72,000.00	\$18,400.00	\$73,600.00	\$750.00	\$3,000.00
631.0800	Guide Sign (1 Post)	3	Each	3	Each	\$1,740.00	\$5,220.00	\$580.00	\$1,740.00	\$850.00	\$2,550.00	\$750.00	\$2,250.00
634.0100	Portland Cement Concrete Sidewalk	439	C.Y.	439	C.Y.	\$925.00	\$406,075.00	\$1,000.00	\$439,000.00	\$1,012.00	\$444,268.00	\$650.00	\$285,350.00
636.0100	E-Construction License	F.A.	F.A.	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
638.0100	Curb, Type 2D	1,650	L.F.	1,650	L.F.	\$57.00	\$94,050.00	\$40.00	\$66,000.00	\$143.00	\$235,950.00	\$25.00	\$41,250.00
638.0200	Curb & Gutter, Type 2DG	2,730	L.F.	2,730	L.F.	\$120.00	\$327,600.00	\$75.00	\$204,750.00	\$126.00	\$343,980.00	\$35.00	\$95,550.00
641.0100	Hydro-Mulch Seeding	166,667	S.F.	L.S.	L.S.	L.S.	\$75,000.00	L.S.	\$114,000.00	L.S.	\$194,500.00	L.S.	\$100,000.00

PROJECT:	Interstate Route H-1 Addition and Modification of Freeway Access (Kapolei Interchange Complex), Phase 3												
PROJECT NO.:	NH-H1-1(271)												
NET LENGTH:	2.6 Miles					000055110	W DDOC 11.0	LIANA/AHAAL D	DEDOINO	NAID A. I	MAGE		OF HAWAII
ISLAND: DISTRICT:	Oahu Ewa					GOODFELLO	W BROS. LLC	HAWAIIAN D CONSTRU		MIRA I CONSTRUC			MENT OF ORTATION
TYPE CODE:								COMPAN		CONCINC	511014, EE0		'S DIVISION
DATE ADVERTISED:	September 20, 2022												
BID OPENED:	December 16, 2022	** NOTE: Q											
COMPLETION TIME.	Five the dead Facts (540) Calculate Davis	shown in											
COMPLETION TIME:	Five Hundred Forty (540) Calendar Days	columns are	e for in-	APPROX.									
ITEM NO.	ITEM	QUANTITY	UNITS	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
643.0100	Maintenance of Existing Landscape Areas	F.A.	F.A.	F.A.	F.A.	F.A.	\$25,000.00	F.A.	\$25,000.00	F.A.	\$25,000.00	F.A.	\$25,000.00
645.0100	Traffic Control	L.S.	L.S.	L.S.	L.S.	L.S.	\$285,000.00	L.S.	\$200,000.00	L.S.	\$1,500,000.00	L.S.	\$3,000,000.00
645.0200	Additional Police Officers, Additional Control Devices, and Advertisement	F.A.	F.A.	F.A.	F.A.	F.A.	\$750,000.00	F.A.	\$750,000.00	F.A.	\$750,000.00	F.A.	\$750,000.00
648.0100	Field Posted Drawings	L.S.	L.S.	L.S.	L.S.	L.S.	\$2,500.00	L.S.	\$2,500.00	L.S.	\$75,000.00	L.S.	\$3,500.00
650.0100	Curb Ramp, Type B	6	Each	6	Each	\$4,500.00	* \$27,000.00	\$3,500.00 *	\$21,000.00	\$6,183.00 *	\$37,098.00	\$12,000.00	\$72,000.00
650.0200	Detectable Warning Mat	6	Each	6	Each	\$225.00	* \$1,350.00	\$3,000.00 *	\$18,000.00	\$500.00 *	\$3,000.00	\$800.00	\$4,800.00
696.0100	Field Office Trailer (Not to Exceed \$32,000, 1 Total)	L.S.	L.S.	L.S.	L.S.	L.S.	\$32,000.00	L.S.	\$32,000.00	L.S.	\$32,000.00	L.S.	\$32,000.00
696.0200	Maintenance of Trailers	F.A.	F.A.	F.A.	F.A.	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00
699.0100	Mobilization (Not to exceed 6 Percent of the sum of all items excluding the bid price of this Item)	L.S.	L.S.	L.S.	L.S.	L.S.	\$1,350,000.00	L.S.	\$2,000,000.00	L.S.	\$1,651,556.77	L.S.	\$2,273,171.22
	a. Sum of All Items (All Work Excluding New Sewer Facilities)						\$32,380,359.00		\$38,354,900.00		\$38,352,818.27		\$40,159,358.22

TABULATION OF BIDS-NEW SEWER FACILITIES

PROJECT NO.: NET LENGTH: ISLAND: DISTRICT: TYPE CODE: DATE ADVERTISED: BID OPENED:	Interstate Route H-1 Addition and Modification of Freeway Access (Kapolei Interchange Complex), Phase 3 NH-H1-1(271) 2.6 Miles Oahu Ewa 01, 21, 31, 43 September 20, 2022 December 16, 2022 Five Hundred Forty (540) Calendar Days	** NOTE: shown in columns a	n these			GOODFELLO	W BROS. LLC	HAWAIIAN I CONSTR COMPAI	RUCTION		IMAGE CTION, LLC	DEPART TRANSPO	OF HAWAII MENT OF ORTATION S DIVISION
ITEM NO.	ITEM	**APPROX.QUANTITY		APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
204.0300	Trench Excavation for 30" Sewer Line	2150	C.Y.	2150	C.Y.	\$47.00	\$101,050.00	\$14.00	\$30,100.00	\$156.00	\$335,400.00	\$75.00	\$161,250.00
204.0400	Trench Backfill for 30" Sewer Line	2050	C.Y.	2050	C.Y.	\$17.00	\$34,850.00	\$70.00	\$143,500.00	\$123.00	\$252,150.00	\$75.00	\$153,750.00
209.0300	Installation, Maintenance, Monitoring and Removal of B.M.P.	L.S.	L.S.	L.S.	L.S.	L.S.	\$13,500.00	L.S.	\$1,000.00	L.S.	\$95,000.00	L.S.	\$20,000.00
209.0400	Additional Water Pollution, Dust, and Erosion Control	F.A.	F.A.	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
503.0700	Concrete in Reinforced Jacket for Sewer Line	70	C.Y.	70	C.Y.	\$365.00	\$25,550.00	\$650.00	\$45,500.00	\$1,600.00	\$112,000.00	\$750.00	\$52,500.00
625.0100	Sewer System	560	L.F.	560	L.F.	\$415.00	\$232,400.00	\$600.00	\$336,000.00	\$795.25	\$445,340.00	\$500.00	\$280,000.00
626.0400	Sewer Type "SB" Manhole, 14 Feet to 14.99 Feet	1	Each	1	Each	\$47,500.00	\$47,500.00	\$50,000.00	\$50,000.00	\$60,500.00	\$60,500.00	\$10,000.00	\$10,000.00
626.0500	Sewer Type "SB" Manhole, 15 Feet to 15.99 Feet	1	Each	1	Each	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$64,534.00	\$64,534.00	\$10,500.00	\$10,500.00
699.0200	Mobilization (Not to exceed 6 Percent of the sum of all items excluding the bid price of this Item)	L.S.	L.S.	L.S.	L.S.	L.S.	\$5,000.00	L.S.	\$10,000.00	L.S.	\$35,000.00	L.S.	\$41,880.00
1	b. Sum of All Items for New Sewer Facilities						\$519,850.00		\$676,100.00		\$1,409,924.00		\$739,880.00
;	SUM OF ALL ITEMS FOR COMPARISON OF BIDS (a+b)						\$32,900,209.00		\$39,031,000.00		\$39,762,742.27		\$40,899,238.22
k	* The proposal schedule had an error and didn't leave a blank for	·	to be filled	in by bidders. T	he unit price was	s calculated based o	on the amount and fi	lled in.					
	I certify that this is a true and correct tabulation of bids for this proj	ect.											
	Li Nah Okita	Mar 8, 20	023										
ļī	Li Nah Okita, Project Manager	Da	te										